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10O % ke ke ke ke ook o ok ok ok ok ok ok ke o ok sk sk e ke s o ok ok ok ok ok ok ok
110 * %

120 * % MSX H*792° X7Y 7°-4

130 * x

140 * % BY T.SUZUKI & S.TAKAGI
190

1O * ook koo ok ok ok sk ok 3 sk ok 3k sk o ok ok ok kol ok ok ok ok ok o ok kK %
ildull

180 * INITIALIZE

T

200 SCREEN 0, ,0:WIDTH 38:KEYOFF:DIM X(9,3),P(3),Q(2):R=27
210 DIM M(3):FOR I=1 TO 3:M(I)=9:NEXT

220 Uos=" 2

230 Uls=" sbetvresttidbidteeestiidasss"

240 MO$="VUS5T7604L 12CEGFDO3BO4CEGOSCCCC"

250 M1$="V5T7604L12EGOSCO04BFDEGOSCEEEE"

260 M2%$="V5T7604L12G0SCEDO4BFGOSCEGGGG"

270 M3%$="V7T7604L12FGGH#GE-CFDO3BO4CCCC"

280 GOSUB 1440:CLS:G0OSUB 1500

*
*
*
*
*
*

290

300 * MAIN LOOP

SL0 2

320 *

330 ' UNDERLINE

340 °*

350 FOR I=0 TO 2

360 LOCATE 0,15+2*1:[F I=P THEN PRINT" _" ELSE PRINT"
370 NEXT

380 LOCATEO, 14+2%P:PRINT" %

390 LOCATEOQ, 14+2%P

400 B$=MID$("YOUC-1C-2",P*3+1,3)
410 GOSUB1690

420 IF P>0 THEN 520

430

440 * PLAYER’S TURN

450 *

460 LOCATE 5,23

470 B$="N"/PRZ N7 (1-3"

480 GOSUB1690

490 A=ASC(INKEYS$+" ")

500 IF (A<49)+(A>51) THEN GOTO 490
510 A=A-48:IF M(A)=0 THEN 490 ELSE 590
S0

530 ' COMPUTER’S TURN

540.*

550 LOCATE 5,23:PRINT"PUSH SPACE KEY =
560 IF (INKEY$=" ")=0 THEN 560

370 A=INT(RND(1)%3)+1

580 IF M{(A)=0 THEN 570

590

600 * TAKE A CARD

610

620 X=2-M(A)+9*A:Y=M(A) : Z=X(M(A),A)
630 GOSUB 1110

640 FOR I=0 TO B800:NEXT

650 ON Z GOTO 670,680,640

660 P(P)=P(P)+1:G0SUB 1300:G0TO 690



670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850
860
870
880
820
200
210
920
930
240
950
960
970
280
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
11350
1160
1170
1180
1190
1200
1210
1220
1230

P(P)=P(P)+1+P(3):P(3)=0:PLAYMO$,M1%,M2%:GOSUB 1300:GOSUB 1370:G0T0 690
P(3)=P(3)+P(P)+1:P(P)=0:PLAYM3$:G0SUB 1300:GOSUB 1370:G0TO 490

LOCATE 5,24 :PRINT" s

IF 7=3 THEN LOCATE 5,24:B$="¥747#+" 11":G0SUB1690:FORI=0TO200:NEXT:P=P-1
P=P+1:1IF P=3 THEN P=0

MOAY=M(A)=1:IF M(A)>0 THEN X=1-M(A)+9*A:Y=M(A)-1:GOSUB 1010:G0TO 290
FOR I=0 TO 5:LOCATE -1+9%A,I:PRINT" "INEXT

' END

IF MCO1)+M(2)+M(3)<>0 THEN 290
FORI=0TOS00:NEXT

CLS:LOCATE10,2
B$="G A M E 0 V E R":GOSUB16%90
FORI=0TO2

FORJ=0T02

Q(I)=Q(I)=(P(I)>=P(J))
NEXTJ,I1:L=9

FORN=3TO1STEP-1

FORI=0T0O2

IFQ(I)<>NTHENS20

LOCATES8,L:L=L+3

B$=STR$(4-N)+". "+MIDS("Y 8] U= COMPUTER “1COMPUTER . 2T H1+1,11)

B$=B$+" "L EFTSIC S S GRS Dt STRECR CT D)

GOSUB1690

NEXTI
NEXTN
FORI=0TO1000:NEXT
LOCATE10,24
Bs="E2/Fp" N7 (Y/N) ":GOSUB1690
EN$=INKEY%$

IF (EN$="Y'")+(EN$="y") THEN RUN

IF (EN$="N")+(EN$="n") THEN END

GOTO 970
’

* DISPLAY A CARD ¢ DOWNSIDE )
LOCATE X-1,Y: PRINT" oy
LOCATE X-1,Y+1:PRINT'" #&—= u.
LOCATE X-1,Y+2:PRINT" ——
LOCATE X—1,Y+3:PRINT" i%—% s
LOCATE X-1,Y+4:PRINT' ————14
LOCATE X-1,Y+5:PRINT" "y

RETURN
’
' DISPLAY A CARD ( UPSIDE )

’

C$=CHR$(128+2)

LOCATE X,¥: PRINT'™ -“sCHstvl
LOCATE X,Y+1:PRINTC$;" ";C$
LOCATE X,Y+2:PRINT'S ";Csqt M
RETURN

' UNDER CARDS

1

LOCATE I—J ’ J:PRINT ™ :
LOCATE I1+2-J,J:PRINT"—";



" 1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
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1470
1480
1490
1500
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1580
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1670
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1720
1730
1740
1750
1760
1770
1780

LOCATE I-J,J+1:PRINT" "~ ",
LOCATE I+4-J,J+2:PRINT"i";
LOCATE I+4—-J’J+3:PRINTII Ve

LOEATE PI+3=J,0+4 s PRINTM =13
RETURN

L SEORE

IFP(P)=0 THEN CO%$=U0%$:G0T01340

CO$=LEFT$(LEFT$(U1%, 1+P(P))+U0%,28)
LOCATE3, 14+2xP:PRINT CO%;
RETURN

*UE LD

IF P(3)=0 THEN CO%=U0%$:G0T01410
CO$=LEFT$(LEFT$(U1%$, 1+P(3))+U0%,28)
LOCATE 3,20:PRINT CO%;
FORI=0TO2500:NEXT

RETURN

* RND INITIALIZE

LOEANTEN S5 105 PRINT? PUSHYSPABEIKEY 1 H
IF INKEY$=" '" THEN RETURN
I=RND(1):G0TO 1480

' CARDS INITIALIZE
FOR 1I=1 TO 3:LOCATE I%*9+1,0:PRINT"—";:NEXT
FEOEsl=08 108
FOREF=210" 27¢ STEP 9
GOSUB 1120:X=0:R=RND(1)
IF R>.5 THEN X=1
IF R>.7 THEN X=2
IF R>.9 THEN X=3
X(J,1/9)=X
NEXT I
NEXT J
Y=8:FOR X=1 TO 19 STEP 9:G0SUB 1010:NEXT
FOR X=1 TO 19 STEP 9:G0OSUB 1010:NEXT
FOR 1=0 7@ 3
LOCATE 0,14+2+%1:PRINT MID$("YOUC-1C-2FLD",I1*3+1,3);
NEXT
RETURN

' MESSAGE WITH BEEP
FORIO=1TOLEN(B%$)
P$=MID$%(B%,10,1)
PRINTP%$;

IF(P$=" ")=0THENBEEP
FORI1=1TO30:NEXT
NEXTIO

RETURN
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